## **ALL INDIA INSTITUTE OF AYURVEDA(AIIA)**

# GAUTAMPURI, SARITA VIHAR, MATHURA ROAD, DELHI 110076 (India)

#### **Satellite Institute at**

Village: Dhargal, Taluka: Pernem, Mopa Airport Road, Goa

Website: <a href="mailto:www.aiia.gov.in">www.aiia.gov.in</a>
Email: <a href="mailto:central-store@aiia.gov.in">central-store@aiia.gov.in</a>

Phone Number 011-26950401/02 (Ext. 2206)

F. No: M/5/2024-AIIAGoa Dated: 23/08/2024

Sub: Notice Inviting Objections/Comments on Procurement of Haematology reagents under Proprietary Article Procurement for AIIA, Delhi-reg

A request has been received from the department of Pathology AIIA, Goa for the procurement of "Haematology reagents" under Proprietary Article Certificate (PAC) procurement. The annual required details are as below:

SR. NO.	NAME	QTY	PACK SIZE	Rate per unit	Total
1	Cell cleaner sysmex	3 <sub>0</sub> Bottles	50 ml	7115	213450.00
2	Diluent DCL sysmex	30 Box	20 liter	4000	120000.00
3	DFL Cell pack	2 Bottle	1 liter	8611	17222.00
4	XN Check low (1/ Month)	12 vials	3 ml x 1	7000	84000.00
5	XN Check Normal (1/ Month)	12 vials	3 ml x 1	7000	84000.00
6	XN Check High (1/ Month)	12 vials	3 ml x 1	7000	84000.00
7	Flurocell WNR	2 pack	82mlx2	49000	98000.00
8	Florocell WDF	2 pack	42mlx2	56000	112000.00
9	Sulfolyser	2 Number	5Lx1	37000	74000.00
10	Lysercell WNR	2 Number	5LX1	31360	62720.00
11	Lysercell WDF	2 Number	5LX1	36320	72640.00
12	Flurocell PLT	1 Pack	12mlx2	62152	62152.00
13	Flurocell RET	1 Pack	12mlx2	64152	64152.00
14	XN Cal	1 Vial	3.0mlx1	22000	22000.00
15	XN cal PF	1 Vial	3mlx1	15000	15000.00



c			Total	Amount (INR)	1,139,956/-
16	XN Check BF (L1 & L2)	1 Vial set	3mlx2	20000	20000.00

#### (GST will be taken as per applicable rate)

- 2. The specifications of the item, PAC certificate from the Department and certificate from the supplier are attached herewith.
- 3. The above documents as mentioned in para 2 are being uploaded in public domain to submit objections, comments, if any from the manufacturer/supplier regarding proprietary nature of the equipment/items within issue of 15 days (i.e., 09/09/2024) giving the reference No: M/5/2024-AIIAGoa dated 23/08/2024. The comments/objections should be raised to AIIA over email address central-store@aiia.gov.in.
- 4. In case, no objections received, it will be presumed that any other vendor is having no comment to offer and case will be decided on merits to finalize the purchase.

Ranjit Singh)
Store Officer

#### Encl:

- PAC Certificate
- Certificate from Supplier
- Previous Purchase order

### Proprietary Article Certificate (PAC) for procurement of Goods/equipments

	1.	Description of Goods/Equipments	:	XN-10 Hematology Analyser Reagents (Reagent list attached)					
	2.	Sanction Letter No.	:						
	3.	Quantity	:	Copy Attached					
	4.	Estimated cost (in INR)		1,325,703 1-					
	5.	Manufacturer's Name and Address	:	Maday Doday Downla 12 11-1	(aem)				
7/1	OF MI	-m/s -sysmex corporeition	17	Medex India Private limited DD 36, 36, Kalkaji New	al agent				
100	0	314-2 kituno, Tapan		Delhi - 110019 (Loc	al agent				
	6.	Name of Local Agents, if any	:						
				Ato MIS Sysm Muiller					
				os abou.					
	7.	I approve the above purchase and I ce	rtif	y that :- For Standard 20100					
	/.	Tapprove the above parchase and rec	7	Printer and at printer					
	(i)	The recommended equipment/software (write only what is applicable) has the necessary							
		features required to meet the specific needs of the sub-project;							
	(ii)		reh	ensively in any other equipment/software	-				
		(write only what is applicable);							
	(:::)	The action and/ordinate (suite and suite	.l. a	tis analisable) is af a mannistam actual and					
	(iii)	can only be obtained from SUSMEX	na	t is applicable) is of a proprietary nature and					
		supplier): and	1	Write the halle of the	n-3.				
		Other make braduets	17\C	consumables of the Machine of the machine compatible acceptable	10				
	(iv)	The costs are reasonable and financial	ly a	acceptable. To rarious tel.					
	, ,				112:10 1				
					MUSICA				

Date: 16/8/24

Place: 6100 (Dhurgel)

**Note**: To be signed by Director/Vice Chancellor/Dean

वैद्य (प्रो.) सुजाता ही. कदम Vd. (Prof.) SUJATA D. KADAM अधिकाता (शैक्षणिक एवं प्रशासन) Dean (Acadmic and Administration) अदित पासीय आयुर्वेद संस्थानांशी India Institute of Ayures 

Following documents are required to be attached with Direct Contracting proposal:

- 1. Proprietary Article Certificate (PAC) signed by the competent authority on the Institute Letter Head (Format attached).
- 2. Justification by the Indentor and countersigned by the Director of the Institute (in case of ICAR Institute) stating clearly as to:
  - Why the specific brand of equipment/software is only suitable for the purpose?
  - Why the consortia does require the specific features that make 'other makes' unsuitable?
  - And no alternative brand/ make is available that will suit the purpose of the project?
- 3. Proprietary Article Certificate by the supplier.
  - 4. Proforma Invoice of the supplier with all terms and conditions.

For Africal Country with the Existency set of Equiposition

Colors make forestacts are not sembatialed arecolorable.



Ref. No.: SZ/AlIA-Goa/Sysmex/Hemat-Reag/2023-24/001 Date: 5th February 2024

To,
The Director,
All India Institute of Ayurveda,
Village Dhargal, Taluka Pernem,
Mopa Airport Road,
Goa- 403513

Ref: Automated Hematology Analyser (5 Part), Sysmex Model XN-1000 (XN 10 + SA 10)

installed as per NOA No. HITES/PCD/AlIA/23-24/3376 Dated: 02.12.2023

Sub: Authority Letter for supply of Reagents/Consumables.

Dear Sir.

We, M/s Sysmex India Pvt. Ltd., having registered office at Damji Shamji Business Galleria, Office No. 1002, 10th Floor, LBS Marg, Kanjur Marg (West), Mumbai 400 078 who is a subsidiary of Sysmex Asia Pacific Pte Ltd, Singapore, who in turn is a subsidiary of Sysmex Corporation M/s Medex India (P) Ltd., F-35/1, Ground Floor, Okhla Industrial Area, Phase-II, New Delhi – 110 020 (INDIA) to supply the Reagents/Consumables for the above referred equipment on our behalf, as per the rates mutually agreed upon.

No firm other than **M/s** "**Medex India Pvt. Ltd.**" is authorised to supply Reagents/Consumables on our behalf for your Institute.

In case if Reagents/Consumables are procured through any other vendor/source, the warranty of the machine will stand null and void. The Authorization is Valid upto 31.03.2029.

Thanking you, Yours faithfully,

For SYSMEX INDIA PVT

AUTHORISED SIGNATORY

Sysmex India Pvt Ltd (CIN: U33120MH1998PTC115943)



Ref. No. : SZ/AllA-Goa/Sysmex/Hemat- Reag/2023-24/003 Date : 5th February 2024

To,
The Director,
All India Institute of Ayurveda,
Village Dhargal,
Taluka Pernem,
Mopa Airport Road,
Goa- 403513

Proprietary Article Certificate
(Description of Goods/services): Reagents for Sysmex Automated
Hematology Analyzers

Dear Madam/Sir,

1. It is certified that we M/s Sysmex India Pvt. Ltd. having registered office at Damji Shamji Business Galleria, Office No.1002, 10th Floor, LBS Marg, Kanjur Marg (West), Mumbai 400 078, wholly owned subsidiary of M/s Sysmex, Japan do hereby confirm that M/s Sysmex Corporation located at 314-2 Kitano Noguchicho, Kakogawa, Hyogo 675 0011 and 1-5-1 Wakinohama Kaigandori, Chuo-ku, Kobe, Hyogo, 675-0011, Japan are the Sole Manufacturers of "Reagents for Sysmex Hematology Analysers".

- 2. These reagents are Proprietary products of M/s SYSMEX. It is confirmed that no other firm is manufacturing these reagents.
- 3. The reagents are marketed in India under the brand name of SYSMEX.

Yours faithfully,

For SYSMEX INDIA PVI-LTD:

AUTHORISED SIGNATORY

## **NEIGRIHMS**

North Eastern Indira Gandhi Regional Institute of Health and Medical Sciences, Shillong

(An Autonomous Institute, Ministry of Health and Family Welfare, Government of India)
Director's Block, GPO Post Bag No.92, Mawdiangdiang, Shillong 793 018, Meghalaya.

Store & Procurement:

Tele Fax: 0364 - 2538032

File no: NEIGR/S&P/C-05/2021-22

Supply Order No: NEIGR - S&P/OT - 1272 /2023-24

Email: storeneigrihms@gmail.com

www.neigrihms.gov.in Dated: 01.12.2023

10/01/2024

To,
M/s Medex India (P) Ltd
F-35/1 Ground Floor,
Okhla Industrial Area Phase II,
New Delhi — 110 020
Ph: 011-41318370/41318172
Email: medexindia@gmail.com

SUPPLY ORDER FOR: Consumables/Reagent for Automated Hematology Analyzer (Make: Sysmex India Pvt Ltd; Model:

XN1000-B1) for Pathology Dept Demand Req No: - Bk No-115

\*This Order/Memorandum issues with concurrence of Finance Branch vide their U.O.

No C-1067 2023-24 dated 8.1.2024.

Dear Sir.

With reference to your response to our GEM Bid No:GEM/2020/B/901136, dated: 02.12.2020; an order is hereby placed on you for the under mentioned Stores which may be supplied to this Institute / Central Store / Department at Mawdiangdiang, Shillong-12 between 10.00 hrs to 17.00 hrs leaving lunch time, on any working days (Monday to Friday) except on Govt. holidays.

This order which is intended for the supply of the store detailed in the scheduled below, in accordance with the terms & conditions of NEIGRIHMS / Government of India and in the manner specified herein, shall operate to create a specific contract between the contractor (with whom the contract referred to and the requisition are placed) on one part and NEIGRIHMS. Shillows on the other part

SI.No.	Product Code	Description of Stores	Unit/Pack	Tests	Qty.	Unit	Basic Price (In%)	GST %	Rate Inclusive of GST	Total Amount (Quantity)	
		Total (	onsumables	Refer Ar			ks: 21.41.	552.64			

Amount in words: (Rupees Twenty-one lakh forty-one thousand five hundred fifty-two and sixty-four paisa) only.

Total price inclusive F.O.R delivered free at Central stores / Department at NEIGRIHMS, Mawdiangdiang, Shillong - 793 018 including loading / unloading / handling and other unforeseen charges.

10) +. du 20

07- 1272/2023 - 24, ott 10/01/2024

10/01/2024

National Analyzer | Make: Sysmex India Pvt Ltd, Model: XN1000-B1) as per GEM Bid No:

	Item Code	Description of Stores	020/B/90113 Pack/Unit	Basic Price	GST %	Rate Inclusive of GST	Quantity	Total Amount (Quantity) Rs
1	ZPJCT661628	Cell Pack DCL ( DCL-300A)	20L x 1	4000	480	4480		0
1	P90411414	Sulfolyzer (SLS-220A)	5L x 1	37000	4440	41440	2	82880
200	ZPPBL121531	Lysercell WNR-210A	5L x 1	31360	3763.20	35123.20	2	70246.4
4	ZPPAL337564	Lysercell WDF-210A	5Lx 1	36320	4358.40	40678.40	4	162713.60
5	BT965910	Cell Pack DFL (DFL-300A) (XN)	1.5L x 2	25832	3099.84	28931.84		0
6	CP066715	Fluorocell WNR (WNR-800A)	82 ML x 2	49000	5880	54880	1	54880
7	CV377552	Fluorcell WDF (WDF-800A)	42ML x 2	56000	6720	62720	10	627200
8	BN337547	Fluorcell RET (RET-SOOA)	12ML x 2	64152	7698.24	71850.24	8	574801.92
9	CD994563	Fluorcell PLT (PLT-800A)	12ML×2	62152	7458.24	69610.24	3	208830.72
10	BV661822	XN Check L1	3.0ML x 1	7500	0	7500	16	120000
11	AK060533	XN Check L2	3.0ML x 1	7500	0	7500	16	120000
12	BR875289	XN Check L3	3.0ML x 1	7500	0	7500	16	120000
13	AE344243	XN Cal	3.0 ML x 1	22000	0	22000		0
14	83401621	Cell clean	50ML x 1	7115	1280.70	8395.70		0.00
15		PM Kit	1	32000	5760	37760		0
16		Spout kit	1	12000	2160	14160		0
17		Pearcer	1	11500	2070	13570		0
18		Glass Plate no. 4	10pcs	48000	8640	56640		0
19		Ink ribbon - IR-STSP10	1	16000	2880	18880		0
20		Microslides	3000	99000	17820	116820		0
21		Giemsa's Stain	1	4000	720	4720		0
22		Wright's Stain	1	1400	252	1652		0
23		Phosphate buffer pH7.0	1	5000	900	5900		0
24		Carbinol Dried (Methanol)	1	2200	396	2596		0
		То	tal Consumables C	ost				2141552.64

Store & Procurement Officer NEIGRIHMS, Shillong

All Framan